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Part I. Multiple Choice (30% @ #i#M@3% * SFEAAAERXFBARBLE R L)
1.

Which of the following is a method of obtaining relevant information on networks by having a computer
broadcast information directly to the user based on prespecified interests?

A, Push technology B.  Pull technology

C. Request-based service D. Clickstream advertising

E. Digital broadcasting

. Wircless compuling where users move from wireless hot spot to wireless hot spot to gain network or Internet
access best describes:
A. collaborative computing. B. I-mode computing.
C. location-based computing. D. nomadic computing.

E. maobile computing.

. The underlying personality disposition toward decision making is called the:

A. cognitive style. B. personal bias.
C. systematic approach. D. behavioral indicator.
F. model of rationalization.

. When tailoring a particular aspect of a system to the way a company does business, enterprise software can

provide the company with:

A. conversion manuals. B.  project workbooks.

C. dala dictionaries. D. state transition diagrams.
. configuration tables.

. A distortion of information about the demand for a product as it passes from one entity to the next across the

supply chain is called:

A. bullwhip effect. B. ripple effect.

C. replenishment effect. D. exponential effect.
E. cumulative effect.

A competitive strategy for creating brand loyalty by developing new and unique products and services that
are not easily duplicated by competitors best describes:

A. focused differentiation. B. low-cost producer.

C. product differentiation. D. quality differentiation.

5. marketing differentiation.

. A measurement of the depth and detail of information that a business can supply to the customer as well as

information the business collects about the customer best defines:
A reach. B. intensity.

C. micromarketing. D. richness.

Ii. channel leveling.

- is the collection, examination, authentication, preservation, and analysis of data held on or
retrieved from computer storage media in such a way that the information can be used as evidence in a court
of law.

A. Sniffing B. Spoofing
C. Computer crime D.  Computer forensics
L. none of the above.
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9. Which of the following [nternet business models provides a digital environment where buyers and sellers can
| meet, search for products, display products, and establish prices for those products?

| A. Portal B.  Virtual community

C. Online marketplace D. Transaction broker

E. Online service provider

10. The removal of organizations or business process layers responsible for certain intermediary steps in a value
chain is called:
A disintermediation. B. reintermediation.
C. customer self-service. D. pure-play.
E. dynamic provision.
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Part 1. Short-Answer Questions (20%, f§ & #@5%)
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4. List the three basic operations of the relational database.
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